P—150GP

o K

- -

=

20 @
30
3163

73—YNo. B b & % = ¥ " %
1 10401 RF— 1
2 170406 AT ILEHRT (M4 X 6) 2
4 10425 M4 x 258yEV T ER 3
5 10417 M4 X 148yEVTEX 2
6 10405 TURA/N— 1
7 10417 M4 x 1489EVTEX 2
8 10208 AAYF 1
9 10414 aO—KFi1tE 1
10 10417 M4 X 1489ELTER 2
11 10412 a—K(5m) 1
12 10415 a—KFog A 1
14 10408 HA—RRILT— 2
15 10409 Hh—iRo TS (25 tvh) 1tyb
16 10410 RILE—FpyT 2
17 10416 NFYLGTRY—T 1
18 608VV R—ILRFY2 5 (608VV) 1
19 12405 R 1
20 3204 AT Iy e—(M4A) 2
21 10419 M4 x 4558yELTEX 2
22 12406 BT 1
23 608VV R—ILRFY24 (608VV) 1
24 10413 I I—R 1
25 12451 28 —055 vk 1
26 110408 FREZ (M4 % 8) 1
27 12457 JUoar g 1
28 130510 ME X (M5 x 10) 1
29 22509 ¢5MT v r— 1
30 6900ZZ R—)LRF Y4 (690027) 1
31 12454 GANRINHE 1
32 R35 2w F1)4 (R—35) 1
33 6300ZZ R—ILRF2 4 (630022) 1
34 12420 ZEURIL 1
35 510310 FHAF—(3x10) 1
36 12452 AYR- 1
37 3105 FETyvv—(M5) 4
38 3205 AT Dy e—(MB) 4
39 10434 M5 X 32AvE T EX 4
40 3210 ATY T Iwe—(M10) 1
41 22125 g 1
42 12421 H—Ry>4 1
43 150412 FSRER (M4 x12) 4
44 12422A SR ThAyRtvk 1tk
44-1 12422 TR 1
44-2 202072 F—+—KILk 1
44-3 6201DD R—ILRF71)> 4 (6201DD) 1
44-4 288373 ISYRYF—F— 1
44-5 R32 RAFvFYT (R—32) 1
45 28869MA 5x11 TMP—A(R) 1
46 10440 arFoH— 1
47 104025 AAYFHIS— 1
Al 288292 WOX/NF (17 %22) 1
T
E R E R O|HEEAH| EERR | FEYMAY | NN R NI z 2 a—K
A\ A w RPM mm mm mm ke m
100 4.5 430 5,200 12 123 150 1.9 5




